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IP Fragmentation and Reassembly
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How to fragment an already
fragmented datagram

o Max. MTU = 820
o Incoming datagram:

Len = ID = MF = Offset =
1500 X 1 185

o Outgoing datagrams:

Len = ID = MF = Offset =
820 X 1 185

Len = ID = MF = Offset =
700 X 1 285
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IPv4 vs IPv6

A diagram demonstrating the R FC 6 75

massive growth in address space 28 hOST qQ d d resses
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Image is to scale, except the black
area is enlarged for ease of viewing

Source: http://commons.wikimedia.org/wiki/File:Internet_address_spaces.svg



